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QUESTION 1

A user deleted a file from Linux based virtual machine.

Which HPE SimpliVity data protection feature can be leveraged to recover the flie?
A. Restoring a virtual machine from the backup

B. Moving a virtual machine from DR site to the primary site

C. Reverting to the SimpliVity snapshot D. Using file level restore option

Correct Answer: A

QUESTION 2

A customer wants to deploy HPE SimpliVity for a VDI Implementation. They need to add two NVIDIA GPU accelerators
per hypervisor, and they have limited space in the data center. Which HPE SimpliVity model meets the customer
needs?

A. HPE SimpliVity 2600

B. HPE SimpliVity 325 Gen10

C. HPE SimpliVity 380 Gen 10 LFF H

D. HPE SimpliVity 380 Gel0G

Correct Answer: B

QUESTION 3

Which functionality does HPE InfoSight for HPE SimpliVity provide?

A. balance workloads across HPE SimpllVity nodes based on utilization
B. recommendation for guest operating system settings optimization

C. automated firmware and software upgrades for registered customers
D. monitoring of virtual machine latency

Correct Answer: A

QUESTION 4

A customer is analyzing data using HPE InfoSight for HPE SimpliVity. They found that the Total Data Stored for a VM is
significantly higher than the VM Storage Usage in vCenter. How do you explain these findings?
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A. The VM is configured with RF3.

B. The Total Data Stored includes VM data, local backups, and remote backups.
C. The Total Data Stored includes the datastore size and its replicas.

D. The VM was thick provisioned.

Correct Answer: A

QUESTION 5

What are the requirements for stretched cluster implementation?
A. Arbiter located in the primary site

B. Round trip latency below 50ms

C. A direct-connected network configuration

D. The same subnet for the storage network for both locations

Correct Answer: D
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